Is She Really Going Out With Him
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Pret- ty wo- men out walk- ing with gor- ill- as down my street.
'Nights the nightwhen I  go to all the par- ties down my street.
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From my win- dow I'm stari- ing while my cof- fee grows cold.
Wash my hair and I kid my- self I look real smooth.
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Look ov- er there (whe- re) there's a la- dy that I used to know.
Look ov- er there (whe- re) here comesJean ie with her new  boy-friend.
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She's mar- ried now or en- gaged or some-thing so I'm told

They say

that looks don't count for

much if

there goes your

proof
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Is she real- ly go- ing out  withhim, is shereal- ly goin' to take him home to- night
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Is shereal- ly go- ing out  withhimcoz if my eyes don'tde-ceiveme theredome thin' go- ingwrong a- round
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he- re, a- round he- re.
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But if lookscould kill there's a man here who's more down as  dead
'Causel've had my fill list- en you, take your hands off her head
I get so mean around this scene, hey hey
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